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Calculer. Il faut simplifier le résultat au maximum.

RS PR P PEN
5) £+ = 6) gt+3= 7) e = 8) g+ o =
9)§+%: 10)%+Z: 11)%+%: 12)%+§:
13)§+g: 14)§+§: 15)%+%: 16)%+%:
17)§+%= 18)§+§: 19)g+§: 20)§+%:
21)%+§= 22)§+§= 23)§+é: 24)%+13_0:
25)§+§= 26)%+11—0: 27)§+2: 28)g+§:
1)%%:%5 2)%0%:13—0 3)§+§:14—5 4)13_0%215_9
5)%+2=§ 6)é+§: 7)1%+g:§ 8)g+1%:%
21)%+§:2—63 22)§+§:? 23)§+$:g 24)%+13_0:§
%) 5+e-3 | Pitos] | Pitelsl | Pititls

Fiche créée le 13/01/2022 a 10h35 > FRAO4 Réponses de la fiche réf.1642066516



